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(b) State the significance of the biological process involved in the experiment.
| (2 marks)
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SECTION B (40 marks)
Answer question 6 (compulsory) and either question 7 or 8 in the spaces provided after question 8.
6 An experiment was carried out to investigate transpiration and absorption of water in

sunflower plants in their natural environment with adequate supply of water. The amount
of water was determined in two hour intervals. The results are shown in the table below.

‘ Amounts of water in grammes
Time of day ‘
Transpiration Absorption

1100-1300 33 20
1300-1500 45 30
1500-1700 52 42
1700-1900 46 46
1900-2100 25 32
2100-23 00 16 20
2300-0100 08 15
01 00 —-03 00 04 11

(a) Using the same axes, plot graphs to show transpiration and absorption of water in
grammes against time of the day. (7 marks)
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(b) At what time of the day was the amount of water the same for transpiration and
absorption? (1 mark)

(©) Account for the shape of the graphs of:
(1) transpiration; (3 marks)

(11) absorption. (3 marks)
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(d) What would happen to transpiration and absorption of water if the experiment was
continued till 05 00 hours? (2 marks)

(e) Name two factors that may affect transpiration and absorption at any given time.
(2 marks)
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6] Explain how the factors you named in (e) above affect transpiration.

(2 marks)
7 Describe the nitrogen cycle. (20 marks)
8 (a) State four characteristics of gaseous exchange surfaces. (4 marks)

(b) Describe the mechanism of gaseous exchange in a mammal. (16 marks)
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A pea plant with round seeds was crossed with a pea plant that had wrinkled seeds.
The gene for round seeds is dominant over that for wrinkled seeds.

Using letter R to represent the dominant gene state:

(a) the genotype of parents if plant with round seeds was heterozygous; (2 marks)




